HIOKI
{TEST REPORT>

S

1/1
fh 2 <Model Name> ( AL A2 =yFSTRAIN UNIT> )
#2 4 <Model Number> ( 8939 )
#&% 2 <Serial No.> ( No. 1998-1040948 )
B2 F A H<Test Date> ( 2011-06-01 )
<YYYY-MM-DD>
BRE L H<Test Conditions> ( 236 °C, 52 %rh )
IHE | Loy BRER a6k RIE &
<ltem> <Range> |<Inspection Point> <{Tolerance> {Measured Value>
1.DCIRIEFEE<KDC Amplitude Accuracy>
f.s.=10DIV O GIZF&ZERHF <f.s. on recorder = 10DIV> CH1 CH2
50 u £ /DIV 500 1 € 49550 & ~ 50450 u e ( 49906 ue) ( 49969 u €)
100 1 & /DIV 1000 1 € 99300 y £ ~ 1007.00 € ( 99875 n€) ( 99875 u €)
200 u € /DIV 2000 u € 19880 u e ~ 20120 e ( 19950 &) ( 19988 u €)
500 u € /DIV 5000 u € 49730 & ~ 50270 p e ( 49938 ue) ( 49938 ue€)
1000 u € /DIV 10000 u« € 99480 (& ~ 100520 & ( 99813 ue) ( 99813 y €)
(

2000 ¢ € /DIV 20000 1 € 198980 i € ~ 201020 p € ( 199750 ¢ &) ( 199880 1 €)

f.5.=20DIV & 5 IZFE & <f.s. on recorder = 20DIV>

20 1 € /DIV 400 u € 39600 € ~ 40400 p e ( 39925 pe) ( 39900 i €)

50 1 € /DIV 1000 1 € 99300 u € ~ 1007.00 u € ( 99875 &) ( 99875 u €)

100 ¢ € /DIV 2000 i € 19880 & ~ 20120 & ( 19950 p e) ( 19988 u €)

200 y € /DIV 4000 i € 39780 p e ~ 40220 pu e ( 39925 ne) ( 39975 u &)

500 y € /DIV 10000 1 € 99480 1 € ~ 100520 e ( 99813 pe) ( 99813 u €)
(

1000 u £ /DIV 20000 1 € 198980 ¢ £ ~ 201020 ¢ & ( 199750 p €) ( 199880 u €)

{§E<Note>

FAILFIEERRIZ. FL—FRELTLVET, <FAIL decision points are highlighted in gray.>

#A& $E<Overall Result> REH<Inspected by> 7B <Approved by>

( PASS ) ( ) ( )

No. 8939-9



